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The figures in the margin indicate full marks -
for the questions :

1. Answer the following questions (any ten) :
1x10=10

mem(ﬁmwmp

(a) What is the problem of ‘choice’?
o' TP 57

(b) Distinguish between a firm and an

5 e
industry . s B

= - Mention one feature of capitalism.

.amzaﬁt@]w‘w

.tate one feature of economic goods.
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(2 )

(e) What is Cross demand?

fofz sifm 69

() Write the demand function.

VU St e B

/(g) What are complementary goods?
Ao PR 67

(h) Draw the demand curve of Giffen goods.
e NP SRyl Sw P4l

(i) What is the shape of perfectly inelastic
supply curve?

ol SFREEAE @AM s &2

() What is producers’ surplus?
e e 67

(k) Define opportunity sets.
sy vkefed @ |

() What is income consumption curve?

oy ool @ 752

| (m) Mention the concept of market demand.

*wmﬁmmmmﬂw‘

-'klvj;-_'/_ﬁ(n)‘ Dlstmguush between stock and supply.
- uge vmmerm Jrers <A Fda T
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(v) What is derived demand?

Tgo b 57

(q) State one character of labour market.

YT IS 9ol @Yy S 4t |

() What is meant by property rights?
Teeifed 92 ¢ J=in?

2. Answer the following questions in short
(any five) : 2x5=10

weq ApTRd oY Ted (R it <fbh)

(a) Distinguish between positive economics
and normative economics.

SReaive SN Wi Sfre wdfsy Jee
iy T vt

(b) What is economic problem?

wdtsfes AP 2

(c) Write any two features of basic
competitive model.

e eferfrerEe St RGP o
ey forat| |

/ (d)  Why is the cross elasticity of demand
- ¥ for substitute goods always positive and

'. negative for 'pomplementary goods?
Ems AP W ARG AN R




(e)

(9)

If price elasticity of demqnd for milk is
eqﬁal to unity (=1) and if at the price
of T40 per litre a household demands
40 litres milk, then how much milk
will be demanded at the price of ¥ 60

per litre?

o o BifEw 7 FERSAFel G TR 24
wwﬁfﬁ%%ﬁmﬁ%mmwm
&3t SRR 40 RO ANRE B A, (o0
ofs BRI AW 60 TR T AR
siftwE st e 297?

Why do two indifference curves not
intersect each other?

o FRe @4E R AT @ e
Why is the supply curve of labour
upward sloping?

o Qi @t R Sdenat =2

Distinguish between fixed and variable
costs.

Fyr i s e el e s

Mention two government policies 10
enhance competition in the market.

h Whydo input demand curves shift t0
Netleftp o ‘



3. Answer the following questions (any four) :

5x4=20

T I Oe vl (R ciel sifset)

(@)

(b)

(c)

(d)

What i1s price rationing? Explain the
impact of price rationing on the market.

1+4=5
g TP [F5? 19 TSP @FEME &I
SIS Sl [BIT 6, Il F90|

How does the profit motive drive the .
market system? Discuss. )

e SO (FEWE TGN REF  ARGITS
@Y s |

Explain the characteristics of a mixed

economy. S
i SiefAfog RREPR [T P

What is price mechanism? How does
price mechanism allocate resources?

. 1+4=5
v dfEl B2 A AR @EICE T
Rread FE?

What is budget line? How do changes
~_in income€ and prices affect the budget
 line? Use diagrams. 1+2+92=5
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() Show that a monopolist always operates
on the elastic part of the demand curve,
Why?‘ 3+2=5

oredl (@ Gioal FPIR O i (9
s SIS TReE 0 | R 7

(g) Establish the relationship between
average cost and marginal cost. Why
does MC curve cut AC curve from

below? , 3+2=5
N IR AF AT JTT TS 7o Flof 41 |
AT W @R 9T W @AIF T ow |

@ FE7

(h) Explain the various factors determining
the demand for labour. 5

WE biRv e wa Rien sieemg
|

4. Answer the following questions (any four) :

10x4=40
O AW Ted (R ot wifet)

(@) What are the fundamental economic

-~ problems of an economy? How can

~various economic problems be explained

. through the use of production possibility
. CU{I?V@?‘? 0 4+6=10

51 R o ey T o 2

0T IpyiTEs Gesie HgiEel
TS ) R AR

~( Continued.




e
(i e

(b)

(c)

(@)

(e)

° _run average CO

( 7))

How is efficiency of market linked with
producers’ and consumers’ surplus?

Explain. 10
ST TgE Wl (SITR TFeT TS TG
WOl ¢ TFw SR? [ 9

Explain the various factors determining
individual and market demand. fo

Wfesrs viRA e qER SR R
EIRIESEIN |
What is substitution effect? Explain the

concept of substitution effect with the

help of Hicksian and Slutsky method.
1+5+4=10

ofses Rl 57 R ol 0 +foT RS
oifoes REARET AIICB 0t

Explain the . process of consumer’s
optimum choice with the help of indif-

ference curve approach. 10
e (@4 R RS (SR Iy T
sAfeFRIcel P F

Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of longg;z:10

st curve.

@9 e AR o




( 8 )

(9) Explain the behaviour of a profit maxj.
mizing firm in the short-run.

10
I TS Q9 e 399 2ifobig
AL GRgE F4T |
(h) Discuss the rationale behind the
M regulation of monopoly practices. What
- role do antitrust policies play in
monopoly regulation? - 7+3=10
QFHIA P Rge TR el A=
| GIohA IPR FEgTe  h-Rendt
TR & SRl o/™?

(i) Describe the various applicat@ons of
elasticity of demand in economics. 10
wdSifoe ot Rfegrrer R o
e =t

)  Explain how wages are determinedf in a "

/ competitive labour market.

ool Me FERe TG
e =, ot F90
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